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mA
FHIE AT fHIETR A IEZE
E (RIEEXZIE) 103,272,000x 1/2 (AHE)= 51, 636, 000 E (RI&EXIE) 108,571,000x 1/2 (AiHE)= 54,285, 500
&t 51,636,000 51,636 FH &t 54,285,500 54,285 FH | 2,649 +H
B (REEFRERRL) 118,115,000 3/4 (B1EE)= 88, 586, 250 B (RIRFRERRL) 126,867,000 3/4 (B1BE)= 95, 150, 250
(RI&EXIE) 103,272,000 1/4 (E{03) = 25, 818, 000 (RB&EXZE) 108,571,000 1/4 (E{B3) = 217,142,750
&t 114,404,250 114,404 +H &t 122,293,000 122,293 +H | 7,889 +H
ml (—REEFRHE)

FHIE AT fHIETR % A IE 2
AEBRTE REHER) 118, 115, 000 ERRTE RIRFERRE) 126, 867, 000 * 8,752 +H
ERLTTE REEXE) 103, 272, 000 ERLE (RIREXE) 108, 571, 000 * 5,299 +H
EHRESE 82, 688, 000 EHEE 79, 178, 000 -3,510 +H
HEBR-KE 18, 200, 000 HEBR-—KE 18, 200, 000 0
BRREILXE 9,287,000 HRREILXE 9, 060, 000 -227 F+H
T Dfth 154, 400, 000 ZDAth 158, 634, 000 4,234

&t 485,962, 000 485,962 +H &t 500, 510,000 500,510 FF | 14,548 F+H




